1.6

(1) B(r,t) =V x A(r,t)

JO0O00O0OV-B(r,t)=00000000000000000
J0)A(r, )0 0000000000 0000(@O0: Wh/mO)
00 V-B(r,t)=000 B(r,t)=Vx A(r,t)00000000C
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) A(r,t) = g}/ B.(2',y, z,t)dx’
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(3) V x E(r,t)+ By =0
HRERNRNEERE
(4) V X (E(r,t)+aA(r’t)> =0.
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0A(r,t)

(6) E(r,t) = —Vo(r,t) — 5

(7) B(r,t) = V x A(r,1).
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(8) E(r) = =Vo(r),
(9) B(r) = VxA(r).

V- -D(r)=p(r)000

(10) —V - Vo(r) = @
€0
(11) AN=V-V 000000 (Laplacian)
Jooobon
(12) ANp(r) = —@.

000V x H(r)=4(r) 000

(13) V x(V x A(r)) = pot(r).



(14) Vx(VxA)=V(V-A)-AA
00000@OoO0oooon)

(15) V(V-A(r)) — ANA(r) = pot(r) .
J000o0oooo(@moooo)ooooad

(16) A(r) — A'(r) = A(r) + Vu(r)
(u(r)DOOOODOOOOOOO00O0O0OO00)OOoO0OO

(17) B(r) — B'(r) = V x A'(r)
= VX A(r)+V xVu(r) = B(r).

O0oooBUOOOD0O A000UO0ODODUOOOOOOOOOO
Juoood
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(18) Ax(r) +V - Ay(r) = 0
100000 x(»)000000 (1600000000

(19) Ag(r) — A.(r) = Ap(r) + Vx(r).
HREREEN

(20) V-A. =V - A +V - Vx=V-Ay+Ax=0.
A,00 (150000000 (15)0 0

(21) NA.(r)=—pot(r), V- -A.=0.
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22 nory = 21
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(23) NA(r) = —ppt(r), V-A=0.

o(r) 0 A(r)0(DDODOO0DOO)ODDOO0OO0OOO0OOOO0OO
OO0O0o00 (Poisson)0 OO0 OOoOdO
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